
Quantity Value
68.3% CL 95.4% CL

Uncertainty Interval Uncertainty Interval

γ[◦] 63.8 +3.5
−3.7 [60.1, 67.3] +6.9

−7.5 [56.3, 70.7]

rDK
±

B± 0.0972 +0.0022
−0.0021 [0.0951, 0.0994] +0.0045

−0.0042 [0.0930, 0.1017]

δDK
±

B± [◦] 127.3 +3.4
−3.5 [123.8, 130.7] +6.5

−7.3 [120.0, 133.8]

rDπ
±

B± 0.00490 +0.00059
−0.00053 [0.00437, 0.00549] +0.0013

−0.0010 [0.0039, 0.0062]

δDπ
±

B± [◦] 294.0 +9.7
−11 [283, 303.7] +19

−22 [272, 313]

rD
∗K±

B± 0.098 +0.017
−0.019 [0.079, 0.115] +0.031

−0.037 [0.061, 0.129]

δD
∗K±

B± [◦] 308 +12
−25 [283, 320] +21

−69 [239, 329]

rD
∗π±

B± 0.0091 +0.0081
−0.0056 [0.0035, 0.0172] +0.016

−0.0085 [0.0006, 0.025]

δD
∗π±

B± [◦] 137 +22
−83 [54, 159] +32

−130 [7, 169]

rDK
∗±

B± 0.108 +0.016
−0.019 [0.089, 0.124] +0.030

−0.039 [0.069, 0.138]

δDK
∗±

B± [◦] 34 +20
−15 [19, 54] +54

−28 [6, 88]

rDK
∗0

B0 0.249 +0.022
−0.025 [0.224, 0.271] +0.044

−0.051 [0.198, 0.293]

δDK
∗0

B0 [◦] 198 +10
−9.6 [188.4, 208] +24

−19 [179, 222]

r
D∓

s K
±

B0
s

0.310 +0.096
−0.094 [0.216, 0.406] +0.20

−0.22 [0.09, 0.51]

δ
D∓

s K
±

B0
s

[◦] 356 +19
−18 [338, 375] +39

−38 [318, 395]

r
D∓

s K
±π+π−

B0
s

0.460 +0.081
−0.085 [0.375, 0.541] +0.16

−0.17 [0.29, 0.62]

δ
D∓

s K
±π+π−

B0
s

[◦] 346 +12
−12 [334, 358] +26

−25 [321, 372]

rD
∓π±

B0 0.030 +0.016
−0.012 [0.018, 0.046] +0.041

−0.027 [0.003, 0.071]

δD
∓π±

B0 [◦] 32 +26
−40 [−8, 58] +45

−86 [−54, 77]
rDK

±π+π−

B± 0.079 +0.028
−0.034 [0.045, 0.107] +0.049

−0.079 [0.000, 0.128]∗

rDπ
±π+π−

B± 0.068 +0.026
−0.030 [0.038, 0.094] +0.039

−0.068 [0.000, 0.107]∗

x[%] 0.398 +0.050
−0.049 [0.349, 0.448] +0.099

−0.10 [0.30, 0.497]
y[%] 0.636 +0.020

−0.019 [0.617, 0.656] +0.041
−0.039 [0.597, 0.677]

rKπD [%] 5.865 +0.014
−0.015 [5.850, 5.879] +0.029

−0.030 [5.835, 5.894]
δKπD [◦] 190.2 +2.8

−2.8 [187.4, 193.0] +5.6
−6.1 [184.1, 195.8]

|q/p| 0.995 +0.015
−0.016 [0.979, 1.010] +0.032

−0.032 [0.963, 1.027]
φ[◦] −2.5 +1.2

−1.2 [−3.7,−1.3] +2.4
−2.5 [−5.0,−0.1]

adK+K− [%] 0.090 +0.057
−0.057 [0.033, 0.147] +0.11

−0.12 [−0.03, 0.20]
adπ+π− [%] 0.240 +0.061

−0.062 [0.178, 0.301] +0.12
−0.12 [0.12, 0.36]


